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6-41. A member has the triangular cross section shown, I7
Sofulion! - a moment of M = 800 Ib - ft is applied to the cross section.
= determine the maximum tensile and compressive bending

Vo stresses in the member, Also. sketch a three-dimensional

Requité ©. view of the stress distribution acting over the cross secton.
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6—47. The aluminum machine part i5 subjected to a
moment of M =75 N-m. Determine the bending stress
created at points B and C on the cross section. Sketch the
results on a volume element located at each of these points.

*6-48. The aluminum machine part is subjected to a
moment of M =735 N - m. Determine the maximum tensile
and compressive bending stresses in the part.

Probs, 6-47/0—43
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6-55. The beam is subjected to a moment of [3 kip - &

S

—_— —_— Determine the resultant force the stress produces on the top
flange A and bottom flange B. Also compute the maximum
< O_ELU\.T‘\O‘O\- -~ stress developed in the beam.
= *6—56. The beam is subjected to @ moment of 15 kip - 72
(- Determine the percentage of this moment that is resisted b
i RE&U) et the web D of the beam.
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—_— 6-61. Tf the beam has a rectangular cross section with a
‘ width of 8 in. and a height of 16 in., determine the absolure

-

Cplutd 0= maximum bending stress in the beam.
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— bk WA= 064l kO ML
I 5 Z=j Japoan. ~ 6-67. Determine the absolute maximum bending stress in
! - the becam. The cross section of the beam is as shown.
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6~79. Determine the magnitude of the maximum load P

that can be applied to the beam if the beam is made of a
Solu don — material having an allowable bending stress of {ry,, !
—_—

allow 2,

16 ksi in compression and (Catow)s = 18 ksi in tension.
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